SET 1

Total = 26
Across and down

Total = 22
Across and down

Total = 15
Across and down

Total = 30
Across and down

12 8 10
8|l|70]| 8 | =2 11] 6 = 2 4 =
10| 6 | 10| =26 11 3 2 5110
6 | =26 14 |= 3 | 15 |-
=26 EXAMPLE = = =
Total = 34 Total = 61 Total = 52 Total = 48
Across and down Across and down Across and down Across and down
26 29 13 30 9
14| 10 |= 16 13| 17 14 14
13| 8 = 23 16 |- 14 17 |-
- 7 = =
Total = 110 Total = 220 Total = 199 Total = 450
Across and down Across and down Across and down Across and down
50| 35 |- 55| 55 29 ] 61 199 | 101
35 = 65 | 125 |= 63 120 100 =
50 = 80 74 | 50 51 | 199

South African Numeracy Chair Project at Rhodes University

Adapted from: http://www.active-maths.co.uk/worksheets/2mentall/index.html#5




SET 2

Total = 28
Across and down

Total = 18
Across and down

Total =21
Across and down

Total = 50
Across and down

27 25
19| 5 4 | =28 3 9 |- 7 10 |= 10
5 3| 20|=28 8 2 4 15 10| 30
18 | =28 4 |= 13 |= =
=28 EXAMPLE = = =
Total = 27 Total = 25 Total = 16 Total = 70
Across and down Across and down Across and down Across and down
16
14 6 |- 15 = 2 5 |- 40 20
8 14 |- 6 | 17 6 1 50 15
12 |- 16 |- 1 = 10 |=
Total = 250 Total = 175 to do Total = 650
Across and down Across and down Across and down
150 75 |- 75 29 ] 61 199 | 201
30 = 50 = 63 120 |- 300
70 50 |- 20 90 74 | 50 151 | 299
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